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Cryb : 3 wenfl ] [ Qs wHLGUemTseT : 150
Time Allowed : 3 Hours ] [Maximum Marks : 150
2flejemr : (1) owass AaméseEsnd slurs ugleurdl o drensr oL sen e

sfluTisgs Qarerarayn. wFaiiueled Gopulmife simns
samarentLumerflib o Lenguirss Qsfelssey.
2) Beb =g smiy evwulear wi HGW T(WPEIUSHEGL LIRSS
Couamr(Bid. UL g6 cuamreusn@ QLiemsle et (Hd ey,
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Black or Blue ink to write and pencil to draw diagrams.

GOLY @ UGS - 1 grardumowyb, UGS - I comdumeau & &l &5 el
elen_gsrafler efenwefssayb.

Note : Candidate should answer Part - I (Botany) & Part - II (Zoology) in separate
answer-books.

UGS - I (sreurefwev) / PART - I (BOTANY)
(SllQueraer : 75) / (Marks : 75)
GOy : () Sarss alamsseErsE@n e waléseayb.
(i) eflwuren el et CoibOs0ss IS HLar efan_uGemamub Ceirgg
TG!S

Note : (i)  Answer all the questions.

(ii) Choose the correct answer and write the option code and the corresponding
answer.
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19fley -1 / SECTION - A
GO : () Smensg eamisErs@h eflmwaissab. 14x1=14
() sfwre e owsd CorblsHES T (PSIS.
Note : (i)  Answer all the questions.
(ii) Choose and write the correct answer.

1. preQearder wLsariiwerd wafled arariu@b QDI ETHS &G 6T
6T GHOT GOt | & 6 S5
(<t) epemmy () preng (@) &bl (r) <o

The number of fertile stamens in Ravenala madagascariensis is :
(a) Three (b) Four (c) Five (d) Six

2. QapiGuilwggrafien HiramuissliulL Hlanowrer ieme,

(=) 42 Qe.8, 29 Q&.15 (=) 41 Q&.15, 29 Q&.18
(@) 41 Qe.8, 28 Qg8 () 40 Q&.8, 30 Q&8
The standard size of the herbarium sheet is :

(a) 42 cm, 29 cm (b) 41 cm, 29 cm

() 41 cm, 28 cm (d) 40 cm, 30 cm

3. serdlamue s sreursHalmbgl erGESLLGEADS ?

(=) HrOlUT @6Tg & (<) gdled wribleoren
(@) fsev Geaurlyrhigeriay (/) enwCTEr Lyiq&T
Acalyphine is extracted from the plant :

(@) Acalypha indica (b) Aegle marmelos
(c) Cissus quadrangularis (d) Mimosa pudica

4. Ceuirsgrellsemer 2 Husd CeliLiemael

(1) anyGarblslen (<=4,) o amyCaHTb&ET

(@) siwanmsEmel Cgdsar () wayCamderrev(Haer
The root hairs are produced from :

() Rhizodermis (b) Trichomes

(c) Accessory cells (d) Trichoplasts
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M.S. FeumOBTSen 2,FmiFs enwd SBSIETET @IL LD

(1) gL aved (<) aptbenL (@) wsCeurr (FF) Qaeene

M.S. Swaminathan Research Institute is located at :

(a) New Delhi (b) Mumbai (c) Lucknow (d) Chennai

Appuuifle ‘Casrwraflsser CrmL’ e 2 (HeursEeug)

() ayéflan (<) girellen
(@) sl CLrengaflen (/F) LSS deid

‘Foolish Seedling” disease of rice is caused by :
(@) Auxin (b) Gibberellins
(¢) Cytokinin (d) Abscisic acid

@pevedlarr GleutiLy Grrenws 2 (raums@d GCrmuyuilfl erg ?
(=1) QerCasrevGuryr QuirsGerm

(<) eour@Caflur earCs

(@) srpGsrCurearmen i

(FF) gmCrm eneuyen

Which pathogen causes the blast disease of rice ?
(a) Cercospora personata

(b) Pyricularia orizae

(c) Xanthomonas citri

(d) Tungro virus

gengGamsl @eieurm @GHUALuGEng
(1) 2n-1 (=) 2n+1 (@) 2n+2 (%) 2n-2

Trisomy is represented by :
(a 2n-1 (b) 2n+1 (c) 2n+2 (d 2n-2

[ $lgpliys / Turn over
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10.

11.

12

4

Qran® HCrriGLmierrev®aEns@ @erCu Gamarmel o @ TéEGh Gamana,

GGt

(21) uredlergdledlen Hlenerama (<=1) LimeSleSlanened &Cermeny ()
(@) urellrsCgen Hlenersme (/) wmrevurtls FEGse

The two protoplasts are fused with a fusogen called :

(@) Polyethylene glycol (b) Polyvinyl chloride

(c) Polyethane glycol (d) Phosphoric ethane

ymaentluden san_& DG

(<=1) uwsGama (<21,) emaniGurGlLrden
(8) =185Csma (/) Quflenssdler

The innermost layer of cortex is :

(a) Epidermis (b) Hypodermis

(c) Endodermis (d) Pericycle

RETETE Gl (HSMET QRETMIL_6 Qe GemandGh QBrd
(<=1) QlamalGaen (<) CLrGureCsmiCren
(@) ewawGsen (Fr) DNA umellQuoGren

The Okazaki fragments are linked by the enzyme :
(a) Helicase (b) Topoisomerase

(c) Ligase (d) DNA polymerase

aflFCarsemaulien Cumg QeuefliLi(Bid eumyy

(31) srrLIeTenL B, &emen(H (<) e@BLyegen
(&) eanrgen () 2p&&lgen
The gas evolved during Photosynthesis is :

(a) Carbondioxide (b) Nitrogen
(c) Hydrogen (d) Oxygen
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13. wrGsued @b Qupmerer auflens
(1) sordls L CarCir (<=) Qe @Gy
(@) Gami 4 CrmsiGry (/) 1geudleoCerCrr
Malvaceae is placed in the series :
(a) Thalamiflorae (b) Inferae
() Heteromerae (d) Disciflorae
4. @@ po&amMn GEHesmen rpeirear 2 s8nCampidler GCurg Ceeafluu@dgid
DO feTa.
(<=1) 1600 kJ (<=4) 2300 KJ (@) 2500 kJ (FF) 2900 k]
The total amount of energy released from one molecule of glucose on oxidation is
about :
(@) 1600 kJ (b) 2300 kJ (c) 2500 kJ (d) - 2900 kJ
19ifley - =y / SECTION - B
@Iy : eranauCuienih 611 ellenTésEnEE LG eflaL wallssajb. 7x3=21
Note : Answer any seven questions.
15. eL&sm el _Car eu@libed o arer glenaw eu@liLsalen CUWITGEET 6T(LgIS.
Write the sub-classes of Dicotyledonae.
16. wroGaued GHLUSSHWIETET TCHEILD pPETN OHSSHICUS STeuThIGaT 6T Q(Hbleme
Quuwiflenen erpgis.
Mention the binomial of any three medicinal plants of Malvacecae.
B [ SlgpliLys / Turn over
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17. Ln&Gared HasCsr@lilen Lianflsear peadlenar er(pais.

Write any three functions of epidermal tissue system.

18. ens@é Gmuien ULLD euerhg LTSHEmETS GO.

Draw and label the structure of xylem vessel.

19. oferée gnflaws GCrmCurGend UL D cumThg LUTSRISmETS GD.

Draw and label the structure of Lamp brush chromosome.

20. swegmen Qupn @melsHamead sreurd epaTdlenar 6T (P&,

Write any three Transgenic dicotyledonous plants.

21. gaflsauresdpEh Q@LsaurssHn@b o drer gGeaib apamn Coumurhsamens
&(1H.

Write any three differences between Photorespiration and Dark respiration.

22. &6UTH [FE| GTEILINS GUEMTWIM).
Define Respiratory quotient.

23. fléwprear erms ellenerey eremmed 6rees ?
What is Richmond Lang effect ?

24, 2.u9f o rriseT eramTed cTanan ? FOHEUD Q(H 2STTEILD S(HS.

What are Biofertilizers ? Give an example.
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19fley - @ / SECTION - C

@Oy : () ereneuGuignib mIesT(@) eNeTTEHsEHEE eVepwiafldseb. el eramr

-

25-&@3 SemigLiurs aflenweflds Ceuamhib. 4x5=20

(i) Comeuwrer @ misafled LIL D GUENTUIGLD.

Note : (i) Answer any four questions including question no. 25 which is compulsory.

25.

26.

27

28.

29,

30.

31.

(i) Draw diagrams wherever necessary.

Sflw 2 08 sraurelluc Uit GL@ s sdler péslw ibshisar mbdlana
CT(PSEI5.

Write any five salient features of International Code of Botanical Nomenclature (ICBN).
@ mellsdlanad Sreurs SaTiqar UTEV@GOTT SHapenl mellsdamad sralrs
FETIq.601 eUTEL@GTT HHenmuiledlmhg GCoumuBEEs.

Differentiate the vascular bundles of Dicot stem from that of Monocot stem.

Hemormns srrenflsdr uphl GOUCLILSIS.

Write short notes on Mutagenic agents.

et @Lib wrodlwewssiulL pearapulflsamer SHmilLE@edlda
QeuaflulBougred erHLHID BETEDLDEEET 6T(LDGIS.

Write the benefits from the release of genetically modified micro-organisms into the
Environment.

Cesenmiidlen seurswrefl 2 iimal aflers@s.

Explain Genong’s Respiroscope experiment.

< Sf@ienw (Auxin) eurpefwe eflancrealsamer 6r(Lpsis.

Bring out the Physiological effects of Auxin.

Qpeveien CUTBaTTSTT (WWEELSHIEISMS 6T (SIS,

Write the economic importance of rice.

[ Slgpinis / Turn over
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1916y - = /SECTION - D

@iy : () ereweuCwigyd @rewsr( eflanrssEnsE oflenl wel&ssaib. 2x10=20

(i) Csmeuwrer @L miseld® LLLD aUeNTLIG|LD.

Note : (i) Answer any two questions.

(i) Draw diagrams wherever necessary.

32. Wlyevr urreLfursreileear samesbarngerTa elleufl.

Describe Musa paradisiaca in technical terms.

33. @meisHamag sreuy Ceaiflear waoblame emliemn afleuf.

Describe the primary structure of Dicot root.

34. DNA wpCGsrsens mIlueiiud ubdl @ SL(Heny eT(pgis.

Write an essay on DNA recombinant technology.

35. Smarsranadle eremmTed cremen ? Fenm Ligsener edleul.

(uenruL D Steveng) elleTdsid)

What is Glycolysis ? Describe its various steps.

(Flowchart or Explanation)
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L& - 11 (efleorsflwied) / PART - I1 (ZOOLOGY)
(wHuQuenrser : 75) / (Marks : 75)
9fley - = / SECTION - A

@dlly : (i) Seoens5si aﬁ]e@rrré;ss@és.@m cllen L wiafl&selLb. 16x1=16
(i) esflwrer ellanLemws CaibLsHSS T(PSeLD.

Note : (i) Answer all the questions.

(ii) Choose and write the correct answer.

1. olbsanssdar Callssliu@n @LId

(=1) NlbssLD (<=1) yCrmevGLL &rind
(@) eriflenLigBlev (rF) Qelbleted e
Sperms are stored in the :

(a) testis (b) prostate gland

(c) epididymis (d) seminal vesicle

2. @@ Urssdear sLLs wrdflew em sleteferar groyser Qaream® efetdEd

(pen D

(=) eravs Grm GurQrélen (=) X-adiT Ligd suanTLILLD

(8) aCrr@w_GLr Syma () swuwle . CurGordyma

The method which can give skeletal model of a protein from its results, on its atomic _
details :

(a) Electrophoresis (b) X-ray crystallography

(c) Chrometography (d) Computed tomography

3. &b amfe gplemL semer ereudbg LITHSTEEGD e 6ra)?

(=) HCeoiGluim (=) Crrg (@) Wblismre (FF) Slermig

Which fish keeps the fertilized eggs guarded in its mouth ?
(@) Thilapia (b) Rohu () Mirgal (d) Platty

[ Slgpinys / Turn over
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4. ulLrells Qesramemw Wadlu uaTurss Qeram el
(<=1) Wenerlioers Fré (=) Qpmiom |
(@) Qedammien (/F) =860
Peacomb is one of the important breed character of :
(a) Plymouth rock (b) Brahma
(c) Leghorn (d) Aseel

5. upsreeumy HfFmsuler Curg un@ulayer HlFuulu@L Lms erg ?
(=) srevflwd sriuGer (<=1,) @Curen_(h 2 Uiy

(@) slLr Quisr Cyfler (/F) Qumirdlud o L

During root canal treatment the cavity of the tooth is filled with a sealing paste made

of :
(a) calcium carbonate (b) iodised salt
(c) gutta percha resin (d) pottasium salt

6. ereveu BLWLTHD LILLGEUTEHET ratiuBSpg) ?
(1) Werrevdllserr (<=1,) enLicd

(@) umr 2 mitiy () grremevGuTaTeTSar

What is the name for mobile genetic elements ?
(a) Plasmids (b) Pili
(c) Bar body (d) Transposons

7. MHC ganaer aan@Laluler et GCrmGorGeritldy o crarer.

(<=1) @CrmCurGsmb - 1 (=) GCrmGuwrGsrd - 2
(@) &CrmGuorGsrd - 4 () &CrrGrGsrbd - 6
MHC genes in mouse are located in :

(a) chromosome -1 (b) chromosome - 2

(c) chromosome - 4 (d) chromosome - 6




10.

11

srer oet Crranwsd GCarhmeNiiLig
(<=1) erawri_Blm

(<21) SevCuaflwr GLrarmeaureai
(@) gAuuGamrCaror CabiGlweren
(/F) eevCGueaflwumr wrrlssm

Kala-azar is caused by :

(a) Entamoeba

(b) Leishmania dono vani
() Trypanosoma gambianse
{(d) Leishmania trophica

Qrsssdan sadlnar grsdé Qeoib St GoDauUGHGL, 2L QImLILSaTer
@r$s @l 1b urTdluemLeush@b srreaumore CHT

(1) oiemiqmisLem Glamilum

(<=) au&slur
(@) s ofleurdr augeud Heauliugng Qe QrssCorans
() eramwr@Garmiedlafibiuimr

The disease which reduces the oxygen carrying capacity of the blood and affects blood
supply to various organs :

() Huntington’s chorea
(p) Leukemia
(c) Sickle-cell anaemia

(d) Agammaglobulinemia

s(m Quamanien @aTIQLIHES euTpBTeT Sragdle <lituarafihEl WnseEw
GLbmssaien srTal eremTenilsamns

(1) QarLCumsss Smen (<) 9oLy eSad

(@) Qurés @ariCumss eigh () wasdr Agrasl GUmESs eigb

The number of children born to an average woman in a population during her entire
reproductive life is called as

(a) fertility (b) Dbirth rate
(c) total fertility rate (d) population growth rate

3088
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11.

12,

13.

14.

12

waflgfa CrnlaGpmisg wpsdle sHLLSmw sarLdbgeulr wmi ?

(<=1) @rruirl Gard (<2) Cgrels edevLir
(&) enuilen LTavIg LT () evCLewmed

Who initially developed the vaccine for rabies in man ?

(a) = Robert Kech (b) Joseph Lister

() Louis Pasteur (d) Stanley

@anrlienud@Ed, 4Gumgeand LGHSGD QL Gw 2 6mer &[H&ES S

(<21) BTTQWITS SHEGS ST (=) auCorfls sm&EEGS s

(@) @G - 5856 aurday (F) welMY HBHEGS S

A ring of smooth muscles present between the stomach and the duodenum is :
(a) Cardiac Sphincter (b) Pyloric Sphincter

(c) Ileocaecal Valve (d) Anal Sphincter

SEHET FHHRIGDLELITG! 6.1q..19. (ATP) (P&HFMISET QlEnamujbd @)L Lb

(=) eooCuirdlen @enlp (<=1) wCwrenuibfevaer

(@) By apener (1F) =2u8lq60r @QenLpaerT

During the contraction of muscles, the ATP molecules bind with the active site of :
(a) myosin filament (b) myofibrils

(c) nerve endings (d) actin filaments

@Camen @il wpsen (pSeiied LESHEE G vl GriGLmrevi@uir
L@Huler sariliysslulLg.

(1) 2THlq (=) DiTTL_TTSIq &

(@) -2t fss (FF) pevdHCradlum

Ozone loss was first detected in the stratosphere over the :

(a) Arctic (b) Antarctic

(c) Africa (d) Australia



13 3088

15. Qemeumaueaupmer orhs Ceuflédflsms wmbs GoueTaneriLigmsaar LOHMLD
coemuLIGTTderrevBaafianmed &résliLBEng.

(<21) =LA edler (<21) @éri_iies@Liymren
(@) @ulLrCsre (FF) <po6imiiqig e

Which one of the following chemotherapeutic agent is secreted by the leucocytes and
fibroblasts ?
(@) Ampicillin (b) Interferon

(c) Imidazole (d) Amantidine

16. srgryenr 8.8l wller erdioemm epas6T
(<=1) PQRS (<) PRT (@) Qs (FF) XYZ

In the normal ECG the negative waves are :
(@) POQRS (b) PRT () Qs d) XYZ

19fle] -y / SECTION - B

GOy : raaCugid @ clamssEnsd LB efe efdsaLb. 8x3=24

Note : Answer any eight questions.

17.  opFuraudlunrar SSCamm siflonisdr e Seueurn imwssLBEamer ?

Why essential amino acids are called so ?

18. 1guLuSL 1O eTemTey 6TetTe ?

What is tubectomy ?

19. SO @EUTELSETET LIGRTSMET Gr(LHE!.

Write the characteristics features of poxviruses.

B [ $lpliys / Turn over
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20.

21.

22.

23.

24.

25.

26.

27,

28.

14
9|, 6TIq LITlg SaTes ppesT) (&SI LenflaseT wrene ?
What are the three main functions of antibodies ?
CaniClL_enaeT eTammmed eTeme ?
What is Haptens ?

GCrrCrGsmd QsmELiY euanyuL SHler LwienseT o CHeLD @)TeuTiqena 6T(Lpg).

Write any two uses of Karyotyping.

ereueurm eneupevser Gawau® GeusLriserrs wrHoLL(HSeamE ?

How to produce viruses as effective vectors ?
DNA [Ie&LD GTreommed cTenet ?
What is DNA Library ?

Cusmhsafle) grea|se eranmTed 6rene ?

What is meant by seeding of clouds ?

sfips Bir Benser s eumpprafen QumbLEGH@mW erhiE sWlGSeamer 26
2 grrewTd Clsm(.

Where do the brackish water fishes spend most of their life ? Give an example.

S CLm Sjememavsflen GoaTenloger ppeTHInaT er(Lpg.

Write any three advantages of auto analyser.

QggibiGerrad Cariur® euerwm.

Define Germplasm theory.
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Gifley - & /SECTION - C

@MUY : TCaaibd epenn) edanTésErée efllepLwafl. Qeupmer eflar eraur 31-&@

searig LLng eflen_weaflssa Geuarr(Gib. 3x5=15

Note : Answer any three questions including question no. 31 which is compulsory.

20,

30.

31.

32,

33.

LeCeup erably apPleysaeris updl efleufl.

Describe the different types of fracture.

eriuev Gurullen 2id@GHseT wremal ?

What are the various symptoms of AIDS.

o muiy Hrrafiden s Qsr@de, Qrarmb Ggr@libe wHmib Q&
Qefssela gpu@b Hapasmor dad@s. LHSS Afsmelder Curg
wrppmitiy Brrsfliy ereueurn sO&ESULEGEDS?

Explain the primary set, secondary set and final lysis of graft rejection. How clinically
graft rejection is prevented ?

Yy wroplul L eflae@seafler LweTEeT wremel ?

What are the uses of transgenic animals ?

ApLiQemorge-fmn @O eienrs.
Write short notes on speciation.

[ Hlys / Turn over
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18lfley r= / SECTION - D

GOy : rmaGueaibd Bran® edamsse@sse vl @b eflewef. 2x10=20

Note : Answer any two questions.

34. Qswgsams pEanOCBML eraTug wrg ? 2eUDD DS TET & T et higeT,
sraml@pleer, Crmieumiliyg sryeflsmer erpsis.

What.is myocardial infarction ? Write its causes, symptoms and risk factors.

35. gafl e aniigelly @448 wHmb siby Qedsallen Lnideaear edeuf,

Describe the role of rods and cones in visual perception.

36. 24D CBHESY. TEIHTED CTaE ? 2HH QABmEsyWS S60T68 6r(Hos

Geuamiqw pL GG EHSSET Wenel ?

What is known as energy crisis ? What are the steps to be taken to solve it ?

37. spevas Qamisaiier &ir LOHMIL HpH Gemksmariubh ASTEES oS,

Give an account on Gir and Sindhi dairy breeds.

-000-




